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01 ANMLEEFSHI 2,000 0 2,000
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201 2 Bt2 A Y| 27,020 23,640 3,380
01 Ar®2telt] 27,020 23,640 3,380
= Ol & 27,020 23,640 3,380
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OA & =Xl 228l 1,000,000& 1,000
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SHIZO s gEs) Hel(+sYLuE/HsnE - 298,329 335,229 A 36,900
28 SIIE)
NS ez 2el 274,849 302,649 AN 27,800
IElEe 2 216,526 221,726 A5,200
201 LBt 49| 216,526 221,726 A5,200
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1,525,000& »4H 128
80,0003 »4H 12
105,000% x35/40+4H « 122
130,000& 4 122
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93,664,000& *45/1,000
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2,867,000& *65.5/1,000
93,664,000& x15/1,000
93,664,000& x10/1,000

1,948,110 x2F 128
130,000& 2 122
80,0003 x2H 128
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—188E 63,804,000 *15/1,000 958
—MHEE 63,804,000 «10/1,000 639
=34Hl 121,860 121,860 0
Jl23Hl 121,860 121,860 0
201 B2 A Y| 63,960 63,960 0
01 Ar®2telt] 39,960 39,960 0
= 0ff A 39,960 39,960 0
OFA2gII23Hl| 39,960
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— =l 50,000& *37H x12& 22,200
02 33294l 24,000 24,000 0
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